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1 What transformations have occurred to create the function f(x) = 3x> - 4 from the
function g(x) = x°?
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An object is launched straight upward fro
of 50 0 feet per second. The helght h (|n

The graph of the function has been stretched horizontally and shifted up
four units.

The graph of the function has been stretched vertically and shifted up
four units.

The graph of the function has been stretched horizontally and shifted down
four units. :

The graph of the function has been stretched ve
four units. :
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What is the range of the function f(x) = 75 — 2(x + 3)*? * paravbolo
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4 A wind that is blowing from the northwest toward the southeast can be
represented by a vector. The vector has an eastward component and a southward
component. If the eastward component has a magnitude of 5.00 miles per hour
and the southward component has a magnitude of 15.00 miles per hour, in what
direction is the wind blowing?

S mph
A The wind is blowing in the direction 71.6° east of south.

B The wind is blowing in the direction 67.5° east of south.

C The wind is blowing in the direction 22.5° east of south.

@ The wind is blowing in the direction 18.4° east.of south. o ,
y 4 tan™ (35) =184
5
6 A man is standin onI vel ground 50 feet away from the wall of a building. He

looks up at a window oﬁ%ehe building. The angle of elevation to the bottom of

A 5.7 feet /,:['—7 h = 27.16
7.9 feet o hq = 35.0l
e g I Nz
C 8.3 feet ® /2, n
258
D 8.5 feet %




7 Triangle WXY has the following properties:

. The angle at vertex W is 14°, and the angle at vertex X is obtuse.
. The side opposite vertex W has a length of 7.00 units. gq.
. The side opposite vertex X has a length of 9.00 units. Egﬂo

What is the approximate length of the side opposite vertex Y?

A 1.73 units

2.08 units

C 3.26 units

-~ law of sines ok
Mo of cosines

D 5.40 units

8 Consider these two trigonometric functions

f(x) = 3 s"if;\(_zx) ¥a

= 3 s‘\'nﬁz (x ”T‘:;\\“}

Shift the % apl o he left % units to produce the graph of g.

v

h of'f to the right —Z‘T units to produce the graph of g.

C Shift the graph of f to the left % units to produce the graph of g.

D Shift the graph of f to the right % units to produce the graph of g.




9 The maximum height, in inches, a ball reaches after its first four bounces is shown
in the table below.

Bounce Number Height (in inches)
1 42.0
2 31.5
3 23.6
4 17.7

@ an exponential function, because the hei
with each bounce

B an exponential function, because th

%v w
eighth&of(”the ball is decreasing by 75%
with each bounce

C a logistic function, because gyhe hE|ght of the ball is decreasing by 25% with
each bounce 4

D a logistic function, becau%i@e helght of the ball is decreasmg by 75% with
each bounce ~

D g0 = (£52)




11 What are the polar coordinates of the point (‘2\/5, 2\/5), where 0 < ¢ < 3607

A (2V6,150°) and (216, 210°) (~26351~#(2(%3z::quz
(246, 135°) and (-246, 315°) g

C  (2v6,120°) and (-246, 240°) 2{Le =Y |
D (2V6,30°) and (“26, 330°) -us° (=135°)

2 -

12 Which equation =

A  X+4y=4
B x*+y’=4
i \tCosO
@ Y2+ 4x =4
D y-4dx=4 rrress =2z

Dowz +% = 2
X*E+y? = (2“%\1
B =Yyt kT

1

X'),_*,\‘Z_
NZ+udx =Y




13  Two parametric equations are shown below, where t > 0.

=41
x_3t+3
y =4t* -7

Which nonparametric equation can be used to graph the curve described by the
parametric equations?

2y -9 ={t
A y = %(x +1) -7

4 N = "‘} /%V_O‘)* -7
B y ==lx+3)=7 . v ,

36(x — 1)* — 7

@)
<
Il

324(x - 3)* - 7
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14  The formula for a sequence is shown below.

Which is another formg;i‘a

@ f(n) =

fn) =

that regfgﬁﬁesents the sequence?

L

fn) =

o O w

fln) =3n*+8n-1
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15 When a, = 25,000, what is the sum of the infinite sequence defined by the
equation a,,, = 0.8a,?

@ 125,000

B 140,000
C 160,000
D 195,000

16

0 and 1M f(x) = w

A I

X —>~00

M f(x) = 0and M £(x) = 100°

lim
C X—>"0
D lim

X—>~00




17  In the piecewise function below, k is a constant.

x2 _ kz, L gt et (XTKXX‘@
f(X) — X = k >< _K
4 -k, x =Kk
What is the value of the limit XI'_r)TI‘( f(x)?
A —2k
2k
- 0

D Limit does not exist.




